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4, B do 48 PR IE ) F — K (First Form of Green's Theorem) B



B3P R ARENTHEFEBELBATEANSHES

Frpl: RZEBERS 8 BE: ERME

[
I j f [£P1v2@2 + (V). {VQ]dZ = TP V@r)do

)

i
(a) & “Hf f [ [GV P + (VO)IIZ = ‘F*g%ﬁ (5%)

K 5

AR @R BAAEMRN, % & Laplace's equation V'@ =0,
AARZGER Lo X AL HEHR XBAH (10%)

5. THRBREHILLA

ay +z=h
ax+bz=1
ax +ay+dz=2

LATFTFHEEZHERT 2R ZohAE K JF A — FF (unique
solution) B , (i) A — # Bt # (A one-parameter family solution) 8 , (iii) # 3
B} (A rwo-parameter family solution) B, v &R 8o (20%)

6. =mETHMMN

@EHVAX RS ABAXEAHAITVAHER (5%}

{b}:ﬁ'ﬂ:%ﬁg EF B3 BMit EFE LB FH=vxtsy?
ﬁazmn-lti—'}. Mg BomFrazRasam ¥, £ vxa, (3%

B () B AR R 0 R 2 (2)%)

(c) #| A Stoke's iﬂ.aﬁﬂﬁ‘iﬁf)ﬁnﬁ {ﬁ,ﬁﬁtc.ﬁf—wf: 1, 7=0, F
WM CHRUe M T B o (5%)

_H2E ®2H

bd




	ES03_84_01_1
	ES03_84_01_2

